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QUESTION 1

A Cisco Meraki MV camera is monitoring an office and its field of vision currently captures work desks and employee
computer screens. However, recording employee computer screens is prohibited by local regulation. Which feature in
Dashboard can be used to preserve the current position of the camera while also meeting regulation requirements?
A. zone exclusion

B. privacy window

C. area or interest

D. sensor crop

E. restricted mode

Correct Answer: B

QUESTION 2

Which two features and functions are supported when using an MX appliance in Passthrough mode? (Choose two.)
A. intrusion prevention

B. site-to-site VPN

C. secondary uplinks

D. DHCP

E. high availability

Correct Answer: AB

Reference: https://documentation.meraki.com/MX/Networks_and_Routing/Passthrough_Mode_on_the_MX_Security A
ppliance_and_Z-series_Teleworker_Gateway

QUESTION 3

In an organization that uses the Co-Termination licensing model, which two operations enable licenses to be applied?
(Choose two.)

A. Renew the Dashboard license.
B. License a network.
C. License more devices.

D. Call Meraki support.
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E. Wait for the devices to auto-renew.
Correct Answer: AC

Reference: https://documentation.meraki.com/General_Administration/Licensing/Meraki_Co-
Termination_Licensing_Overview

QUESTION 4

Which three verbs of request are available in the Cisco Meraki API1? (Choose three.)
A. SET

B. PUT

C. PATCH

D. ADD

E. POST

F.GET

Correct Answer: BEF

Reference: https://documentation.meraki.com/General_Administration/Other_Topics/Cisco_Meraki_Dashboard_API

QUESTION 5
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Web App Health  for Google - for the last week -

Network #2 E
LAN WAN SERVER ;

S:

Ewii

” VIEW TRENDS

Network #1
LAN WAN SERVER

¥ VIEW TRENDS

Refer to the exhibit. What are two outcomes reflected in the Web App Health application? (Choose two.)
A. Users on both networks may be experiencing issues when attempting to reach Google.

B. Network #1 could not load Google because of a remote server issue.

C. Network #2 had better application performance than Network #1.

D. Network #2 could not load Google because of a local client misconfiguration.

E. Neither network recorded any server-side performance issues.

Correct Answer: AE

QUESTION 6
Which Meraki Dashboard menu section is accessed to enable Sentry enrollment on an SSID?
A. Wireless > Configure > Access Control

B. Wireless > Configure > Splash page
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C. Wireless > Configure > Firewall and Traffic Shaping

D. Wireless > Configure > SSIDs

Correct Answer: A

Reference: https://documentation.meraki.com/MR/MR_Splash_Page/Systems_Manager_Sentry_Enrollment

QUESTION 7

What is the role of the Meraki Dashboard as the service provider when using SAML for single sign-on to the

Dashboard?

A. The Dashboard generates the SAML request.

B. The Dashboard provides user access credentials.

C. The Dashboard parses the SAML request and authenticates users.

D. The Dashboard generates the SAML response.

Correct Answer: A

QUESTION 8

Route table
SUBMNET

[ [
S2darcn Oy suUDne

Subnet
10.115.32.0/28
10.116.32.0/28
192.39.2.28/32
192.168.708/29
192.168.70.0/29
192.39.228.0/24
192.168.0.0/16

NAME

Search by name

Name

Store 1532 - appliance: MGMT
Store 1532 — appliance: DATA
External

MSP NOC

MSP NOC

External

External

TYPE
All

Type

Meraki VPN: VLAN
Meraki VPN: VLAN
BGP

IPSec Peer

IPSec Peer

BGP

BGP

SORT BY

L")

Next hop

Peer: Store 1532 - appliance
Peer:; Store 1532 — appliance
10.128.124.62

499.111.99

4.100.99.100

10.128.124.62

10.128.1.24.62

Refer to the exhibit. A packet arrives on the VPN concentrator with source IP 10.168.70.3 and destined for IP

10.116.32.4.

What is the next hop for the packet, based on this concentrator routing table?

A. The concentrator gateway (10.128.124.62) is the next hop.

B. Not enough detail is available to determine the next hop.

C. The packet is stopped.
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D. The Auto VPN peer "Store 1532 ?appliance" is the next hop.

Correct Answer: B

QUESTION 9

aliilic g SD-WAN & traffic shaping

Cisco

Uplink configuration

4 Gbps deta
WAN 1
WAN 2 4 Glps detwily
Cellular Unlimited detals

Uplink statistics Test connectivity to Description Default Actions

8.8.8.8 Google . 7*
Wireless Add a destination
- interval WAN 2 Hourly ~ simple

Cellular  Hourly ~

Uplink selection
Global preferences
Primary uplink  WAN 1 ¢

Load balancing Enabled
+ Disabled

Flow preferences

Internet traffic ~ There are no uplink preferences for Internet traffic
configured on this network.

Add a preference

Refer to the exhibit. Which two actions are required to optimize load balancing asymmetrically with a 4:1 ratio between
links? (Choose two.)

A. Change the primary uplink to "none".

B. Add an internet traffic preference that defines the load-balancing ratio as 4:1.
C. Enable load balancing.

D. Set the speed of the cellular uplink to zero.

E. Change the assigned speeds of WAN 1 and WAN 2 so that the ratio is 4:1.
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Correct Answer: CE

QUESTION 10

Which API endpoint clones a new Organization?
A. POST /organizations/clone/{organizationld}
B. PUT /organizations/{organizationld}/clone

C. POST /organizations/{organizationld}/new

D. POST /organizations/{organizationld}/clone

Correct Answer: D

QUESTION 11

Which VLAN is used to source pings across the site-to-site VPN when using the MX Live tools?
A. highest VLAN ID that is configured and set to NO to use VPN

B. lowest VLAN ID that is configured and set to YES to use VPN

C. highest VLAN ID that is configured and set to YES to use VPN

D. lowest VLAN ID configured and set to NO to use VPN

Correct Answer: C

Reference:
https://documentation.meraki.com/General_Administration/Tools_and_Troubleshooting/Using_the_Ping_Live_Tool

QUESTION 12
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Uplink selection
Global preferences

Primary uplink

Load belancing Enabled
Traffic will be spread across both uplinks in the proportions specified above.
Management traffic to the Meraki cloud will use the primary uplink.
» Disabled
All Internet traffic will use the primary uplink unless overridden by an uplink preference
or if the primary uplink fails.

Active-Active AutoVPN @« Enabled
Create VPN tunnels over all of the available uplinks (primary and secondary).

Disabled
Do not create VPN tunnels over the secondary uplink unless the primary uplink fails.

Flow preferences

Internet traffic There are no uplink preferences for Internet traffic configured on this network.
Add a preference

SD-WAN policies

VPN traffic Uplink selection policy Traffic filters Actions
Use the uplink that's best for VolP traffic. All VoIP & video conferencing +
Prefer WAN 2. Fail over if poor performance for "Conf*  WebEx + X

Add a preference

Custom performance Name Maximum latency (ms) Maximum jitter (ms) Maximum loss (%) Actions
classes Conf 200 50 5 X

Create a new custom performance class

Refer to the exhibit. Assuming this MX has established a full tunnel with its VPN peer, how will the MX route the WebEx
traffic?

A. WebEXx traffic will prefer WAN 2 as long as it meets the thresholds in the "Conf" performance class.
B. WebEXx traffic will prefer WAN 1 as it is the primary uplink.

C. WebEx traffic will prefer WAN 2 as long as it is up.

D. WebEx traffic will be load-balanced between both active WAN links.

Correct Answer: A

QUESTION 13
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Refer to the exhibit. The VPN concentrator is experiencing issues. Which action should be taken to ensure a stable

environment?

A. Add a deny any/any firewall rule to the end of the firewall rules.

B. Remove the connection from Internet 1.

C. Physically disconnect all LAN ports.

D. Configure the MX appliance to Routed mode on the Addressing and VLANS page.

Correct Answer: C

Latest 500-220 Dumps

500-220 VCE Dumps

Latest 500-220 Dumps | 500-220 VCE Dumps | 500-220 Braindumps

500-220 Braindumps

9/9


https://www.pass4itsure.com/500-220.html
https://www.pass4itsure.com/500-220.html
https://www.pass4itsure.com/500-220.html
http://www.tcpdf.org
https://www.pass4itsure.com/500-220.html
https://www.pass4itsure.com/500-220.html
https://www.pass4itsure.com/500-220.html

